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 ��� V = 100 ml  ����� �� ���� ��( H+ + NO3

-)����  !���" 1 mol/l C =#�$� %& '��� (
m = 19,2 g 
�)*&� ��( Cu ).

1/-.$�/�*0&� 12 ���3 OX/ Red �4 53�6$&� 
 1�$�7�8&� Cu+2/Cu)(�NO3
-/NO)(

2/-9: ;	�<&� ��)$�& =>�*�� 53�6$&� �3 ?@A�� #&B�A�� 12 .	 :
3 Cu(s) + 2 NO3

-
(aq) + 8 H+

(aq) 3 Cu2+
(aq) + 2 NO(g) + 4 H2O(l) 

D/-�E3�6$��& #�/�8$	F� ?B��� #��� G<�� .
HI /-*�� 53�6$&� J8K" ��8I L��2 ;	�<&� ��)$�& =>�.
B/-8M� 53�6$�� B8� .

2/-?N��O� #INB 
 PQ�I2 #	��$&� 12 ���3250CRS�&� PT� P = 105 pa 
2/-�: #	��$&� U��V 
 ����S�& ���� W�O� 12 .	 VM =24 l 

D/-���F� 8�<�2 ��X W�� .	 #YEA&� 8I��(VNO )J8K$&�� ;�Z*�� ( x)
3/-���F� 8�<�2 ��X W�� [S" ;\���� 5]�&� 9ZAQ VNO  ��!&� #&F8	 t.

2/-#^)�&� 
 �_$��Y G<��� 53�6$&� #3�` a�3 t = 20 s.
D/-#^)�&� 
 bQ!��& ���� G���$&� b$*$`� t = 30 s .

4/-#�3�*&� #��Y�*&� ?N�c3 R32 σ(t) J8K$&� #&F8	 ���)��& ( x)
dZAQ:����S&� 1���Y :PV(g)=ngRT eR=8.31j°K-1mol-1 eM(Cu)=64g/mol eλH

+ = 35 mS m2/mole
λNO3

- = 7.14 mS m2/mol eλCu
2+ = 10.4mS m2/mol 

�� ���	
������ :)04
��� (
1-#f$g�� #���A&� ���	Bh� 
 5�<� ... )) :A�cZ&� J����N��&� ����79)U(T#"��6$� #6f	 �Q[^� d�3 �`�`2 j�$99%��

J����N��&�238 �0.7%J����"��c&� �� .
&��YB�J����N��&� �� Gfk R��7 �: #Q��*&� ��ZM� 
 5�A$<�� 235 [^*&� #c<� j2235U]"�� @�2 1�0.7%)�[^*&� #c<� 238U

�� 5Y2 1�]"99.7%. (#Q��2 �:8�� �Y��&� 
J����N��&� 235 ?N�ZV .1��$�� [m�" PT j��� N�Z��� 53�6" no p��g�& #�	�Y j2.
J����&�c&�)Pu(#A�cZ&� 
 8I�Q F.J����"��c&�241 J����N��&� �� �YEZ�� #Q��*&� ��ZM� �E3�6� 
 #Q���m #��$*� %��3 5fq 238 .

��� 5�]�" #�6�]& �ZZk 9ZA� 12 �Y��&� 
 �]r J����"��c&� ?241��$&� j��*&� 53�6$&� ;Q�s �3 :
)1....(....................241

94
238
92

−+→+ βyPuxnU

t�� :1��$�*&� !�Nn(-β#0A*� #��<I !�N(x ,y �K�F �48Q8T W$Q .A�cs .���A� .
%��]�" B��u (J����"��c&� �Z�*Q241v��$�� a>Y [m�" PT .H& N8f� �_\ w&x d�3 ?B�Q�-β���  ��3 'f.*` ?��3 #c"N �.

2–9�Q�� a�3 :?[^� #Q��2 (j��� N�Z��� (��A&� 'f�.
D–� 1��$�*&� �� 5]& jN>&� WY�&� � 9�$]&� B8A&� B8�-β)!���$&� J8g$`� #��<I 5]& #c<*&�	XAZ.( 
=-z��Y 8I�2 x�y#&B�A�� 
)1.(
2-���ZA�� :
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� c = 3,00.108 m.s-1 ( e = 1,602177.10-19 C ( 1u = 1,66054.10-27 kg  ( m(n) = 1,00866 u 
� m(β-) = 0,00055 u( 1u = 931.5 Mev. 
� m(Pu) = 241,00514 u  (J����"��c&� ?��� #�$�241 : m(Am) = 241,00457 u  J��]Q��h� ?��� #�$� 241 :
� m(Y) = 97,90070 u  (Q[$QF� ?��� #�$� J�98: m(Cs) = 140,79352 u  J�Q!�<&� ?��� #�$� 141 :

"J����"��c&� 53�6241#&B�A�� ;\� W$Q j��*&� :)2............(+ → + +241 141 98
94 55 39Pu  n  Cs  Y  3 n

2-?8��	 8I�2Mev  ��Y ?N�M� #Y�Z&� #EF7EJ����"��c&� �� ?8��� ?��� N�Z��� �241.
D-53�6" 12 �����2 ��KQ5<�<$� 53�6" no B�KQ 12 �]r p�*&� �>: �� .|?B�6��  >: J�8g$`� �Q@" w*]r 5: 
�-J����"��c&� 241 ��� ��Q2 �: –β"]]6%#&B�A�� ;\� W$Q ) :3............(−→ +241 241

94 95Pu  Am  β

?8��	 8I�2Mev  ?N�M� #Y�Z&� #��YEDw]6$&� �E7 –β?8��� ?��*& J����"��c&� ��241.
�-��_*�	 #c<*&� G<�2 } .$K	�<&� ."N�M� .$Y�Z&� .	 1N�Y.
~-� ������]*&� .	 �B�c$�� [m�$&� 12 1�8��Q #Q��*&� ��Q!�6&� ����3 [m�$&� ��*�	 N�Z���� �3 ���<�� �: j�K&� �B�c$�� [m�$&�	 d�<�

��$�*&� 50� 1���]� .	 ;cZ�� � �B�c$�� w]6$&� �3 ���<�� �: '�A�&� �B�c$�� [m�$&�	 d�<�� � 1��$]&o � 1–β��)�Zf��  >: 5:
|?N@� w& ��8c" 

3-J����"��c&� d�3 j�$T #*�A& U��� #`�NB 241 #Q��h� B83 #c<� d�3 ��fO� �� #6�$k #*��2 �E7 �]� NB83� #]]6$�� [X 
#�/�8$	�� #Q��h�N0?8I��$�� #*�A&� 
. ��B2 ��8�� 
 P��` �_��3 5f)$�� b/�$*&� :

t (ans) 0 3 6 9 12 
N/N0 1 0,85 0,73 0,62 0,53 

*** J����"��c�& ��A&� 'f� ?8� #��Y �����	 B8�241 (�*&� 
 BN� �� �� ��N�Y.
������ ���	
��:)03
��� (:

3 ��h� j�$� .`�� ���A$`�	 B��3 !�*� ����&� �� #)�6� d�Pb(s)����&� ���$*& 9/�� ���� 
 ��/!I ?N��S� 
����  !���"C1=0 .1 mol / L

#�6&� w�` �� 1�]$� v�0&� �)Ag( s #�6&� ���$*& ���� 
 N��S� 
 !���" C2=5.0 10-2. mol / L(.�&�M� �� 5� W�� �: V1=V2=200ml 

J��`�"�c&� ���$*& 9)�� �<I #Z`��	 .&��M� 5��� 
#�6&� w�` �: GI��� GZK&� 12 n� B��A&� 
�s .	 %Z	N 8*3 �$� R&�6&� [�Q.

1���$&� P	�m5��O� 53�6$�& �: B��A&� 57�B 
1-.$&B�A�� G$�2 B��A&� 
 ~8� j>&� 9/����]&� ��)$�& =8�*�� 53�6$&� #&B�A� } .Q�<�� 8*3 .$�6f*&� 
2-9)��� �<�� N�B �:�� 
3-#���� N�Z"  ��� N�	 � 9/�8$	F� 53�6$&� �<� G<�2(|��)$&� �3 ��K� 12 �]r �B�� 
4-�$&� ?8V ��K� � ����2 EY�� B��A&� �>: 
�s .	 G��� �E7 #�IN��� ?N�8&� 
 ?N��� N�1.0h8�*\ I=100mA  
4H1-?8��  >: �E7 9��h� 5Y�*&� @3 B��A&� �>: �:N�r z&� ��	�_]&� #��� G<�2 
4H2-��S$VF� �� #3�` �E7 #�/����]&� p���h� !����" B8� 
4H3-| 5��$�� 18A�� #�$� 
 [�S$&� �� � #�]�$�� 18A�� #�$� 
 [�S$&� �:�� 
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93�*� ��Y ��2 ��`No �Galiléo b���@�&GIOVE-A  
28@�<QB 2005 (@$A�2�� ��K&� 1�Z��<I 93�* ��ZK� S

I ?�K& Fo ��� F>%& �Nh� D(W`�Q p�6"N� d�3 �Q�/�B �N�8� h=23,6.103km�Nh� �Z` �3 .

)�Nh� �ZY 'f� dZAQ :RT=6,38.103 km.(
6(�K���72 #�3�*� N��Y2 #��� 93�*f&� ��K&� #��� #�N :� N�B 9ZAQ ��$&� ��8�� �A	 ��N�8� �ZY 'f� #�3�*f&� N��Yh�:

2-2��c&� W`N2 } ��8�� 5�� 1:T2=f(R3)W`�&� W�` ���A$`�	 : :
293

3133

101:
101:
sCmT
KmCmR

→

→

D-t&�0&� ��c� 1���Y �� ;\��$Q 1��c&� 12 8��" � b"�*&� �)*�� #&B�A� G$�2 .
. MT HI-�Nh� #�$� b$*$`� 

G=6.67 ×10-11SI (%3N�<" � %$3�` G<�2 }.dZAQ : Galiléo  B-�� ��K&� N�B 8I�2 1��c&� ���A$`�	�Z93�* 
�� ���	
������:)03.5 
��� (:

wQ��c&� �� 5�A$<Q C6H5COOH  !�N #^\�� ?B��� #�/�>S&� #3�*f&� 
E 210 ?N��O� #INB 8*3 (25°C #�/�Q!�6&� %$&�� 
#c�� .�	 w&x� wQ��c&� ��O �Ac�� ��/�� F��� ��q #�$� #	�xm
 %*� 250 ml �ZK�� ���� �� 8*325°C.��f)�& %�2 ��>�

 #	�xo J!�Q ��O� �>: �� �c�� ���� d�3 2g 
 %*� 1 L���� �� .
01 -#�$]&� .3 m���M� �>: d�3 ��f)�& �_��A$<� 12 G� z&� .
02 -���� >7�� V1 = 20,0 ml�Q�A�� ���M� �>: �� J�QB�f&� 8�<��N8�: ���� #Z`��	  )Na+

(aq)+OH-
(aq) (

����  !���" CB = 2,50.10-2 mol .L-1 ��[S" 50� �_��3 5fM� ��`��K&� �E7 �� (PHa���� W�O� #&F8	 bQ!�� VB(
1��c&� 50� }

2/?�Q�A�� 53�6" #&B�A� G$�2.
D/53�6" J8K" ��8I L��2 ���� !���$&� b$*$`� } ( ?�Q�A��CAwQ��c&� �� ���M .

1(�Nh� ��6�� 50�(�� ��K&��Z93�*d�3 N�<� �d�3 �Nh� a�s �� #KcZ�� ?�K&� �>: ��K&� .

2(|#��O� %�\ 
N8" j>&� �I��� �: �� �"��*& v�0&� 1���K&� ;�cZ$&(� 9: �� >� #c<*&�	 �_A{� GI��&� #�{�6&�|�I��� 

3(pN�<$&� p�AV ��!�� R32 ar#ZK*�& S;	�<&� �I��� 
.

4(2#&F8	 #��O� #3�` ?N�c3 8I� . G, h, RT, MT

5(#K	�<&� ���ZA�� ���A$`�	 :t&�0&� ��c� 1���Y 8I�2 } #��O� N�B ?N�c3 R32.

T2 (s2)R3 (km3)T(s)R=(RT+h)(km)��K&� 
2,88.10420,2.103GPS  
4,02.10425,5.103GLONASS 
8,61.10442,1.103METEOSAT
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HI /#��A$<�� #�$]&� 8I�2m| b$*$<" �x�� ( wQ��c&� ��O 9/��� ���M� d�3 ��f)�& 
B/B8� 1��c&� �E7 ��PH�Q�A�� wQ��c&� �� ���� J�" [X ���� �� %�3�6" 12 .	�.

03 -W�O� '��� VB = 6 ml  J�QB�f&� 8�<��N8�: ���� �� .
2/J8K$&� #��Y G<�2x#\�{��  >: 8*3 ?�Q�A�� 53�6$& .
D/9�^3h� J8K$&� #��Y B8�xmax53�6$&� �>� .
HI /J8K$&� #c<� b$*$`�τ�� 53�6$& #\�{��  >: 8*3 ?�Q�A.
B/1���$&� P	�m #��Y G<�2K53�6$&� 
 #�N���� #�/�*0�& 

�� ���	
������:)3
��� (:
I-%$S�� ��)� OHHC −73.�_*� 5� '*� ��x�� �_� } ( #*]��� #�f6�� 'f� %S�� R32.

II-=!� g3�� ��)]&� �>: �� g35�� �� �� COOHCH 3�$`h� ?B�� #��� 1��c&� 50r (
��!&� #&F8	 5]�$�� )(tfne =.

�|?B��� #��� 
 L\�]$� 9/�8$	F� bQ!�� 5: 
�53�6$&� B�B�� G<�2 }( 53�6$&� J8K" ��8I R32 J8g$<�� ��)]&� '*� b$*$`�� .
�53�6$&� �>� 9/����]&� 1���$&� P	�m G<�� .
�%"�!�� ��x�� #�f6�� 'f� ��f&�	 ���)$&� �>� =>�*�� 9/����]&� 53�6$&� #&B�A� G$�� .
�B�I� 
 ?N��O� #INB �6� PT�7�� d�3 �*�f� ��*�	 #*�A� ?N��� #INB 
 .�*)*�� 8�2 d�3 �*�f� !���� PQ@]&� �� .

-bQ!�� .g<"� !���� PQ@]&� �� #\�{o �� ��S&� ��.
-|53�6$&� B�B�� d�3 w&x �m�Q 5: 
-R�`�� PQ@]&� �� ���A$`F ;\���� �)*�� .3.
�1���$&� #&�� 
 �:� ;	�<&� bQ!��& '��� 

mol02,01���$&� ���Q  ��� j2 
 (���� �� .
���*A�& #QN>&� #�&��� 5$]&� dZA":

molgO /16:(molgH /1:.molgC /12:.
?B��� x�$`2 :�� 8�2 ?B��I �–�Kc<� �I�� 5]& ��@� -

)(molne
�

0,03 

	

(min)t


